
©Copyright 10/06/2021 LF-Rev00

TN1192 - KN1192
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE - SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

HONDA NC750X  (2021)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 1/4

N° Descrizione/Description Caratteristiche/Features Codice/Code Quantità/Quantity

1
Paramotore - Engine Guard 
Pare-carter - Sturzbuegel

Defensa De Moto - Paramotor
- TN1192DXV

TN1192SXV 2 (Right:Left)

2
Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes Originais
- - -

1

RIGHT SIDE LEFT SIDE 

      17 mm

mmCHECK THE SCREW LENGTH HERE



©Copyright 10/06/2021 LF-Rev00

TN1192 - KN1192
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE - SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

HONDA NC750X  (2021)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 2/4

KEEP THE ORIGINAL 
SPACER IN POSITION

KEEP THE ORIGINAL 
SPACER IN POSITION

B

RIGHT SIDE 

A

B

REMOVE REMOVE

A

1

2

M12x55 P.1,25mm

2

M12x45 P.1,25mm



©Copyright 10/06/2021 LF-Rev00

TN1192 - KN1192
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE - SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

HONDA NC750X  (2021)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 3/4

LEFT SIDE 

C1

KEEP THE ORIGINAL 
SPACERS IN POSITION

C

1

1

2

2

D

E

M12x45 P.1,25mm

M12x55 P.1,25mm



©Copyright 10/06/2021 LF-Rev00

TN1192 - KN1192
PARAMOTORE SPECIFICO  -  SPECIFIC ENGINE GUARD - PARE-CARTER SPECIFIQUE - SPEZIFISCHER STURZBÜGEL - DEFENSA DE MOTOR ESPECÍFICA - PARAMOTOR ESPECÍFICO

HONDA NC750X  (2021)

ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 

INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM 4/4

D E

REMOVE REMOVE

2

2

KEEP THE ORIGINAL 
SPACER IN POSITION

M12x80 P.1,25mm

M12x80 P.1,25mm

2
M12x35 P.1,25mm

KEEP THE ORIGINAL 
SPACER IN POSITION

D1

E1 E2

1

1

1

2

2

M12x35 P.1,25mm


